
from 2018
MERCEDES SPRINTER

FRONT RIGHT
ELECTRIC DOOR

DUE TO AN UNANNOUNCED CHANGES IN THE VEHICLES, BEFORE ORDERING CHECK IF THE 
INSTALLATION DRAWINGS AND MATERIAL SUPPLY FITS THE SPECIFIC VEHICLES. 

ALEX ORIGINAL RESERVE THE RIGHTS TO MAKE CHANGES IN ITS PRODUCTS WITHOUT 
ADVANCE NOTICE.

7495-1191
Using Original Vehicle Remote’s Key

Including Remote Control (2 Pieces)
7495-1192

7495-119 

R.W.D. (907)



MERCEDES SPRINTER
from 2018 (907) 

02.19

ORIGINAL

ERD 1046

FRONT RIGHT ELECTRIC DOOR
INSTALLATION  INSTRUCTIONS



T25

3/8"

         

Ø10mm

REQUIRED TOOLS

Ø38mm (1 1/2")

Ø3.5mm   (1/8")
Ø6.5mm   (1/4")
Ø12mm (1/2")

Ø8mm      (5/16")
Ø10mm    (3/8")
Ø13mm    (1/2")
Ø17mm    (11/16")
Ø19mm    (3/4")  

BLACK MARKER

Ø8mm     (5/16")
Ø10mm   (3/8")
Ø13mm   (1/2")

04.19ERD 1051

ORIGINAL

FRONT RIGHT ELECTRIC DOOR
MERCEDES SPRINTER from 2018

1/13

SCREW DRIVER PHILIPS
SCREW DRIVER FLAT
SCREW DRIVER T20



FRONT RIGHT ELECTRIC DOOR

02.19ERD 1047 2/13

OR IGI N A LMERCEDES SPRINTER from 2018

1

A

B

C

REMOVE DOOR COVER PANEL

REINSTALL DOOR LOCKER
INCLUDING ACTUATOR ARM
ASSY. INSTEAD OF ORIGINAL
CABLE

DISCONNECT ORIGINAL
CABEL FROM DOOR LOCKER
& REMOVE THE DOOR LOCKER

BREMOVE
(SEE NEXT PAGE)A

ACTUATOR ARM
ASSY.
P.N. 2032-513

C

REMOVE

ORIGINAL
CABLE

B

SEE PAGE 13
(IMAGE 20)

D



FRONT RIGHT ELECTRIC DOOR

07.19ERD 1058 2A/13

OR IGI N A LMERCEDES SPRINTER from 2018

1A

A

B

C

D

E

REMOVE COVER

REMOVE ORIGINAL BOLT

REMOVE ORIGINAL BOLT

REMOVE THE FRONT PART
OF HANDLE

REMOVE THE HANDLE

REMOVE
ORIGINAL

BOLT

REMOVE
ORIGINAL

BOLT

REMOVE
A

D

B

C

E



FRONT RIGHT ELECTRIC DOOR

02.19ERD 1048 3/13

OR IGI N A L

2

3

3

MERCEDES SPRINTER from 2018

TEMPLATE
P.N. 2296-545 A

A

DRILL 3 HOLES Ø3.5
& ENLARGE TO Ø6.5 

B

A

B

C

D

E

F

LOCATE TEMPLATE
TO ORIGINAL HOLE

LOCATE TEMPLATE
USING
2 SCREWS 4x16

DRILL 4 HOLES Ø3.5
& ENLARGE TO Ø6.5 

REMOVE TEMPLATE 

REMOVE TEMPLATE 

2 SCREWS 4x16

D

DRILL 5 HOLES Ø3.5
& ENLARGE TO Ø6.5 

DRILL 5 HOLES Ø3.5
& ENLARGE TO Ø6.5 

E

TEMPLATE
P.N. 2296-543



FRONT RIGHT ELECTRIC DOOR

RESIDUAL CURRENT CIRCUIT

THERMAL OVERLOAD RELAY

TRCSB 1000,

-3-

02.19ERD 1049 4/13

OR IGI N A L¯Â¯È˜· ‰Ï·Â‰ Ï˘ ˙Ï„Ï ÏÈÙÂ¯Ù

8800-052 (12V)

8800-063 (24V)
RELAY 5A 24V DC

RELAY 10A 12V DC

פרופיל לדלת של הובלה בקירור

˜ÈËÒÏÙÈÓÂ‚

2296-544

18 mm

21 mm30 mm

BOLT M8 x 35
+ SPACER  Ø19 x Ø8.5 x 15mm
+ WASHER  

6 SCREWS 5 x 19 (S.D)

2 BOLTS M6 x 25
+ 4 WASHERS
+ SELFLOCKING NUTS

4

3

5

MERCEDES SPRINTER from 2018

A

A

B

LOCATE THE CONTRA 
PLATE FROM THE INSIDE
USING 2 BOLTS M6x25
+ SELFLOCKING NUTS 
LOCATE DOOR BRACKET
PLATE
USING 3 BOLTS M6x25
+ SELFLOCKING NUTS 

CONTRA PLATE
P.N. 2296-542

3 BOLTS M6x25
+ SELFLOCKING NUTS

DOOR BRACKET
PLATE
P.N. 2296-541

B

A

2 BOLTS M6x25
+ SELFLOCKING NUTS 



FRONT RIGHT ELECTRIC DOOR

02.19ERD 1050 5/13

OR IGI N A L

6

3

MERCEDES SPRINTER from 2018

A
A

B

C

D

E

F

INSTALL THE DOOR BRACKET
USE 7 BOLTS M6x25
+ SELFLOCKING NUTS
INSTALL THE ACTUATOR
ON THE DOOR BRACKET
USING 2 SCREWS

INSTALL THE ACTUATOR 
ARM ASSY. TO ACTUATOR 
USING 
BOLT USING M4x15 & NUT

CONNECT INNER ORIGINAL
CABLE TO ACTUATOR
ARM ASSY.

CONNECT ORIGINAL CABLE
SLEEVE TO ACTUATOR ARM
ASSY.

BEND BOTH SHOULDERS.

C

B

7 BOLTS M6x25
+ SELFLOCKING NUTS

ACTUATOR ARM
ASSY.
P.N. 2032-513

GEAR MOTOR
ACTUATOR
P.N. 5110-2253

DOOR BRACKET
P.N. 2296-540 A

2 SCREWS

BOLT M4x15
+ NUT

ORIGINAL
CABLE

D

E



FRONT RIGHT ELECTRIC DOOR

03.19ERD 1052 6/13

OR IGI N A L

7

8

MERCEDES SPRINTER from 2018

B

A

C

D
E F

H

G

DISCARD

60mm

45mm45mm

100mm

290mm

REMOVE  PARTS:

A B C D E F G

160mm

60mm
40mm

PART H

H

CUT THE INSULATION
MATERIAL AS SHOWN

CUT AWAY
AS SHOWN

CUT AWAY
AS SHOWN

EPART



04.19

ORIGI N A LMERCEDES SPRINTER from 2018

9

10

FRONT RIGHT ELECTRIC DOOR

A

A

ERD 1053 7/13

MAIN DRIVE
LEFT BRACKET
P.N. 2296-538

BOLT M8x35
+ WASHER 

 

SPACER  
Ø19xØ8.5x15mm

6 SCREWS 5x19 (S.D)

3 BOLTS M8x35
+ SELFLOCKING NUTS
+ WASHERS

MAIN DRIVE
RIGHT BRACKET
P.N. 2296-537

BOLT M6x50
+ SELFLOCKING NUT
(SEE PHOTO 8)

SPACER Ø19xØ6.5x7mm

2 SPACERS Ø25xØ10.5x21mm

!

!

!

DISCARD ORIGINAL BOLT.
INSTALL MAIN DRIVE BRACKET
USING BOLT M8x35, WASHER
 & SPACER Ø19xØ8.5x15mm

INSERT A PIN TO POSITION
THE MAIN DRIVE BRACKET

SCREW USING 
6 SCREWS 5x19 (S.D.)

A

INSERT
ORIGINAL

BOLT

B

B

B

C

C

HOLE
FOR PIN



RESIDUAL CURRENT CIRCUIT

THERMAL OVERLOAD RELAY

TRCSB 1000,

-3-

04.19

¯Â¯È˜· ‰Ï·Â‰ Ï˘ ˙Ï„Ï ÏÈÙÂ¯Ù

8800-052 (12V)

8800-063 (24V)
RELAY 5A 24V DC

RELAY 10A 12V DC

פרופיל לדלת של הובלה בקירור

˜ÈËÒÏÙÈÓÂ‚

2296-544

18 mm

21 mm30 mm

BOLT M8 x 35
+ SPACER  Ø19 x Ø8.5 x 15mm
+ WASHER  

6 SCREWS 5 x 19 (S.D)

2 BOLTS M6 x 25
+ 4 WASHERS
+ SELFLOCKING NUTS

MERCEDES SPRINTER from 2018 TEMPLATE
P.N. 2296-545

REMOVE THE PARTS:

DRILL 4 HOLES Ø3.5
& ENLARGE TO Ø6.5 

C

DRILL 5 HOLES Ø3.5
& ENLARGE TO Ø6.5 

D

B
2 SCREWS 4 x 16

9

FRONT RIGHT ELECTRIC DOOR

ERD 1054 8/13

11

MERCEDES SPRINTER from 2018 OR IGI N A L

MAIN DRIVE
ASSY.
P.N. 2296-544

2 BOLTS M6x25
+ 2 WASHERS
+ SELFLOCKING NUTS

2 BOLTS M6x25
+ 2 WASHERS
+ SELFLOCKING NUTS



04.19

MERCEDES SPRINTER from 2018

TEMPLATE
P.N. 2296-546

LOCATE TEMPLATE
DRILL A HOLE Ø3.5
& ENLARGE TO Ø38 

B REINSTALL 
THE DOOR COVER PANEL

REINSTALL ORIGINAL
CABLE TO DOOR PANEL
HANDLE

FIX DOOR BRACKET
COVER USING
2 SCREWS 

DOOR BRACKET
COVER
P.N. 2296-548

9

FRONT RIGHT ELECTRIC DOOR

ERD 1055 9/13

12

13

MERCEDES SPRINTER from 2018 OR IGI N A L

DRILL A HOLE Ø3.5
& ENLARGE TO Ø38 

2 SCREWS 3x18

A

A

D

C

C

D



1214

04.19

MERCEDES SPRINTER from 2018
FRONT RIGHT ELECTRIC DOOR

ERD 1056 10/13

MERCEDES SPRINTER from 2018 OR IGI N A L

BOLT M5x10
+WASHER

STEEL SPACER
30x10.5x2mm

INSERT
SPECIAL
PIN

15

INSERT 
SHOLDER
BOLT M10

16

STEP 1:
AFTER CONNECTING THE ELECTRIC SYSTEM, PRESS THE DRIVER
OPERATING SWITCH TO CLOSE POSITION TILL THE ELECTRIC
MOTOR STOPS.

STEP 2:
PULL THE DOOR TO CLOSE POSITION 
THEN  ADJUST THE CONNECTING ROD ACCORDING 
TO THE PICTURE.

STEP 3:
CONNECT THE ROD TO THE DOOR BRACKET.

SELFLOCKING
NUT M10

ARM
P.N. 2296-547

2 BOLTS M6x10
+SELFLOCKING
  NUTS

ELECTRONIC 
CONTROL BOX 
No.277
P.N. 1740-277

P.N. 2436-013
P.N. 2471-126

!!

DOOR ADJUSTMENT:



RESIDUAL CURRENT CIRCUIT

THERMAL OVERLOAD RELAY

TRCSB 1000,

-3-

04.19

¯Â¯È˜· ‰Ï·Â‰ Ï˘ ˙Ï„Ï ÏÈÙÂ¯Ù

8800-052 (12V)

8800-063 (24V)
RELAY 5A 24V DC

RELAY 10A 12V DC

פרופיל לדלת של הובלה בקירור

˜ÈËÒÏÙÈÓÂ‚

2296-544

18 mm

21 mm30 mm

6 SCREWS 5 x 19 (S.D)

2 BOLTS M6 x 25
+ 4 WASHERS
+ SELFLOCKING NUTS

MERCEDES SPRINTER from 2018

REMOVE THE PARTS:

DRILL 4 HOLES Ø3.5
& ENLARGE TO Ø6.5 

C

DRILL 5 HOLES Ø3.5
& ENLARGE TO Ø6.5 

D

B
2 SCREWS 4 x 16

DOOR BRACKET
PLATE
P.N. 2296-541

FRONT RIGHT ELECTRIC DOOR

A

ERD 1057 11/13

MERCEDES SPRINTER from 2018

17

OR IGI N A L

DRILL A HOLE Ø12

DOOR SWITCH
P.N. 1050-8261

1218

MAIN DRIVE ASSY.
COVER
P.N. 3801-887

2 BOLTS M6x20
+ LOCKNUTS



8 7
3

6
4 12

9
5

10

REDRED

DOOR E. MOTOR

06.19

ORIGI NAL

ELECTRONIC CONTROL BOX

BATTERY

AFTER IGNITION
ORIGINAL  WIRE RED

DOOR OPEN SWITCH
LOCATED ON DRIVE ASSY.

DOOR CLOSED SWITCH
LOCATED ON DRIVE ASSY.

BL
U

E

12/13ERD 1044

+

19

M

BR
O

W
N

BLACK

30A

MIDI FUSE

12

GREEN

BLUE

RED CONNECTOR

RED 
CONNECTOR

BR
O

W
N

G
R

EE
N

G
R

EE
N

C

ACCTUATOR

12

34

BROWN
NC

NO

(+)

R
ED

G
R

EY

(–)

BL
U

E

(–)

BL
AC

K

(–)

W
H

IT
E

(+)

(+)

VI
O

LE
T

DOOR SWITCH

W
H

IT
E

VI
O

LE
T

BL
AC

K

YE
LL

O
W

R
ED

R 
- 1

.5 
K 

Ω
R 

- 3
0 K

 Ω

(+) (+
) (–)

FRONT RIGHT ELECTRIC DOOR
MERCEDES SPRINTER from 2018 

REMOTE CONTROL

10

5 34 12
7 689

G
R

EE
N

no
t t

o 
be

 c
on

ne
ct

ed
BL

U
E

BL
AC

K
YE

LL
O

WR
ED

ORIGINAL WIRE 
ON TACHOGRAPH
OR 1741-001 (VSS)

SPEED
OPTION

C

NC

NO

BROWN

REMOTE 
CONTROL 
RECEIVER



8 7
3

6
4 12

9
5

10

REDRED

DOOR E. MOTOR

02.19

ORIGI NAL

ELECTRONIC CONTROL BOX

BATTERY

AFTER IGNITION
ORIGINAL  WIRE RED

DOOR OPEN SWITCH
LOCATED ON DRIVE ASSY.

DOOR CLOSED SWITCH
LOCATED ON DRIVE ASSY.

BL
U

E

13/13ERD 1045

+

M

BR
O

W
N

BLACK

30A

MIDI FUSE

12

GREEN

BLUE

RED CONNECTOR

RE
D 

CO
NN

EC
TO

R

BR
O

W
N

G
R

EE
N

G
R

EE
N

C

ACCTUATOR

C
NC

NO

BROWN

12

34

BROWN
NC

NO

(+)

R
ED

G
R

EY

(–)

BL
U

E

(–)

BL
AC

K

(–)

W
H

IT
E

(+)

(+)

VI
O

LE
T

DOOR SWITCH

W
H

IT
E

VI
O

LE
T

BL
AC

K

BL
AC

K

YE
LL

O
W

R
ED

R 
- 1

.5 
K 

Ω
R 

- 3
0 K

 Ω

(+) (+
) (–)

FRONT RIGHT ELECTRIC DOOR
MERCEDES SPRINTER  from 2018 

O
R

IG
IN

AL
 W

IR
E

G
R

EE
N

AT DOOR LOCKER

ORIGINAL VEHICLE REMOTE’S KEY

BL
U

E

RED 
CONNECTOR

ORIGINAL WIRE 
ON TACHOGRAPH

SPEED
OPTION

SEE PAGE  2
(MAGE 1)

D


